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Enrollment No: _______________________         Exam Seat No:_______________________ 

C. U. SHAH UNIVERSITY 

Winter Examination-2021 

 

Subject Name : Water Resource Management 

Subject Code : 2TE05WRM1       Branch: Diploma (Civil) 

Semester: 5                      Date: 17/12/2021                 Time: 11:00 To 02:00        Marks: 70 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: (14)  

 a)  The instrument used for measuring evaporation is  

[A] Hygrometer 

[B] Atometer 

[C] Lysimeter 

[D] Luxmeter 

 

 b)  The rainfall intensity of light rain is : 

[A] upto 2.5 mm/hour 

[B] upto 3.0 mm/hour 

[C] upto 5.0 mm/hour 

[D] upto 7.5 mm/hour 

 

 c)  Which of the following factors doesn’t affect the water infiltration of a 

formation ? 

[A] Thickness of saturated layer 

[B] Wind velocity 

[C] Temperature 

[D] Vegetive cover 

 

 d)  Hydrograph is a graphical representation of  

[A] Runoff and time 

[B] Surface runoff and time 

[C] Ground water flow and time 

[D] Rainfall and time 

 

 e)  Core factor which affects infiltration capacity is  

[A] Thickness of saturated layer 

[B] Depth of surface retention 

[C] Soil moisture 

[D] All of above 

 

 f)   A hyetograph is a graphical representation of 

[A] Rainfall intensity and time 

[B] Rainfall depth and time 

[C] Discharge and time 

[D] Cumulative rainfall and time 

 

 g)  Precipitation caused by lifting of an air mass due to the pressure  
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difference, is called 

[A] Orographic precipitation 

[B] Convective precipitation 

[C]  Cyclonic precipitation 

[D] None of these  

 h)   In nature, water may occur as 

[A] Liquid 

[B] Solid 

[C] Vapours 

[D] All of above 

 

 i)  Phytometer method is generally used for the measurement of 

[A] Interception 

[B] Evaporation 

[C] Transpiration 

[D] None of these 

 

 j)  Knowledge of hydrology is necessary for civil engineers for, 

[A] Designing and construction of irrigation structures 

[B] Designing and construction of bridges and culverts 

[C] Flood control works 

[D] All of above 

 

 k)  Water contains 

[A] One hydrogen atom and one oxygen atom 

[B] Two hydrogen atoms and one oxygen atom 

[C] One hydrogen atom and two oxygen atoms 

[D] Three hydrogen atoms and two oxygen atoms 

 

 l)  Infiltration capacity of soil depends upon 

[A] Number of voids present in the soil 

[B] Shape and size of soil particles 

[C] Arrangement of soil particles 

[D] All the above 

 

 m)   In India the recording type rain gauge generally used, is 

[A] Weighing type 

[B] Tipping type 

[C] Float recording type 

[D] None of these 

 

 n)  The quantity of water retained by the sub-soil against gravity, is known 

[A] Yield 

[B] Porosity 

[C] Specific yield 

[D] Specific retention 

 

 

 

 

Q-1 a)  ફાષ્઩ીબલન ભા઩લા ભાટે લ઩યાત  ું વાધન છે 

[A] શાઇગ્રોભીટય 
[B] એટોભીટય 
[C] લરસવભીટય 

 



Page 3 of 5 

 

[D] Luxmeter 
 b)  શ઱લા લયવાદની લયવાદની તીવ્રતા છે: 

[A] 2.5 mm/કરાક સ ધી 
[B] 3.0 mm/કરાક સ ધી 
[C] 5.0 mm/કરાક સ ધી 
[D] 7.5 mm/કરાક સ ધી 

 

 c)  નીચેનાભાુંથી કય ું ઩રયફ઱ યચનાના Water infiltrationને અવય કયત ું નથી? 
[A] વુંતપૃ્ત સ્તયની જાડાઈ 
[B] ઩લનનો લેગ 
[C] તા઩ભાન 
[D] લનસ્઩સત આલયણ 

 

 d)  શાઇડ્રોગ્રાપ એ ગ્રારપકર યજૂઆત છે 
[A] યનઓપ અને વભમ 
[B] વ઩ાટી લશતેી અને વભમ 
[C] ભગૂબભ જ઱નો પ્રલાશ અને વભમ 
[D] લયવાદ અને વભમ 

 

 e)  Infiltration capacity ને અવય કયત ું મ ખ્મ ઩રયફ઱ છે 
[A] વુંતપૃ્ત સ્તયની જાડાઈ 
[B] વ઩ાટીની જા઱લણીની ઊંડાઈ 
[C] જભીનનો બેજ 
[D] ઉ઩યના ફધા 

 

 f)  શામટોગ્રાપ એ ગ્રારપકર યજૂઆત છે 
[A] લયવાદની તીવ્રતા અને વભમ 
[B] લયવાદની ઊંડાઈ અને વભમ 
[C] રડસ્ચાર્જ અને વભમ 
[D] વુંલચત લયવાદ અને વભમ 

 

 g)  દફાણના તપાલતને કાયણે શલાના જથ્થાને ઉ઩ાડલાથી થતા લયવાદને કશલેાભાું આલે છે 
[A] ઓયોગ્રારપક લયવાદ 
[B] વુંલાશક અલક્ષે઩ 
[C] ચક્રલાતી લયવાદ 
[D] આભાુંથી કોઈ નશીં 

 

 h)  પ્રકૃસતભાું, ઩ાણી આલી ળકે છે 
[A] પ્રલાશી 
[B] નક્કય 
[C] લયા઱ 
[D] ઉ઩યના ફધા 
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 i)  પામટોભીટય ઩દ્ધસતનો ઉ઩મોગ વાભાન્મ યીતે ભા઩ન ભાટે થામ છે 
[A] અલયોધ 
[B] ફાષ્઩ીબલન 
[C] ફાષ્઩ોત્વર્જન 
[D] આભાુંથી કોઈ નશીં 

 

 j)  સવસલર એન્ન્જસનમયો ભાટે જ઱સલજ્ઞાનન ું જ્ઞાન જરૂયી છે  
[A] સવિંચાઈ ભા઱ખાની રડઝાઇન અને ફાુંધકાભ ભાટે  
[B] પ ર અને પ રની રડઝાઇન અને ફાુંધકાભ ભાટે 
[C] પયૂ સનમુંત્રણ કાભ ભાટે 
[D] ઉ઩યના ફધા ભાટે 

 

 k)  ઩ાણી વભાલે છે 
[A] એક શાઇડ્રોજન અણ  અને એક ઓક્સવજન અણ  
[B] ફે શાઇડ્રોજન અણ  અને એક ઓક્સવજન અણ  
[C] એક શાઇડ્રોજન અણ  અને ફે ઓક્સવજન અણ  
[D] ત્રણ શાઇડ્રોજન અણ  અને ફે ઓક્સવજન અણ  

 

 l)  જભીનની Infiltration capacity………….. ઩ય આધાય યાખે છે 
[A] જભીનભાું શાજય ખારી જગ્માઓની વુંખ્મા 
[B] ભાટીના કણોનો આકાય અને કદ 
[C] ભાટીના કણોની ગોઠલણી 
[D] ઉ઩યોસત તભાભ 

 

 m)  બાયતભાું યેકોડીંગ પ્રકાયનો લયવાદ ભા઩ક વાભાન્મ યીતે ઉ઩મોગભાું રેલામ છે 
[A] લજનનો પ્રકાય 
[B] ટી઩ીંગ પ્રકાય 
[C] ફ્રોટ યેકોરડિંગ પ્રકાય 
[D] આભાુંથી કોઈ નશીં 

 

 n)  ઩ેટા-જભીન દ્વાયા ગ ર ત્લાક઴ભણ વાભે જ઱લાઈ યશલે  ું ઩ાણીન ું પ્રભાણ જાણીત  ું છે 
[A] ઉ઩જ 
[B] સછદ્રાળુતા 
[C] ચોક્કવ ઉ઩જ 
[D] ચોક્કવ યીટેન્ળન 

 
Attempt any four from Q-2 to Q-8: 

 

 

Q-2 (a) Discuss water Resources management is today’s prime need. 

ચચાભ કયો કે જ઱ વુંવાધન વ્મલસ્થા઩ન એ આજની મ ખ્મ જરૂરયમાત છે. 

03 

 (b) Explain Symon’s rainguage with neat sketch. 

સ ઘડ સ્કેચ વાથે Symon’s rainguage વભજાલો. 

04 
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 (c) Write short note on types of Precipitation. 

લયવાદના પ્રકાયો ઩ય ટૂુંકી નોંધ રખો. 

07 

Q-3 (a) Draw detailed sketch of Hydrological Cycle. 

શાઇડ્રોરોજજકર વામકરનો સલગતલાય સ્કેચ દોયો. 
03 

 (b) Write a short note on “Narmada Yojana” amongst Gujarat’s 

multipurpose projects. 

ગ જયાતની ફહ શતે  ક મોજનાઓભાુંની "નભભદા મોજના" ઩ય ટૂુંકી નોંધ રખો. 

04 

 (c) Explain different Hydrographs in detail. 

સલસલધ શાઇડ્રોગ્રાફ્વ સલગતલાય વભજાલો. 
07 

Q-4 (a) Explain difference between weir and barrage. 

સલમય અને ફેયેજ લચ્ચેનો તપાલત વભજાલો . 
03 

 (b) Explain contour canal and ridge canal. 

કોન્ટયૂ કેનાર અને યીજ કેનાર વભજાલો. 
04 

 (c) Explain different empirical formulas used to calculate runoff. 

યનઓપની ગણતયી કયલા ભાટે ઉ઩મોગભાું રેલાતા સલસલધ પ્રમોગમરૂક સતૂ્રો વભજાલો . 
07 

Q-5 (a) Explain steps for computing optimum numbers of rain gauges in a 

catchment area. 

કેચભેન્ટ એરયમાભાું યેઈન ગેજની ભશત્તભ વુંખ્માની ગણતયી કયલાનાું ઩ગરાું વભજાલો . 

03 

 (b) Explain various factors affecting evaporation. 

ફાષ્઩ીબલનને અવય કયતા સલસલધ ઩રયફ઱ો વભજાલો . 
04 

 (c) Explain necessity of recharging ground water. 

ભગૂબભ જ઱ રયચાર્જ કયલાની આલશ્મકતા વભજાલો . 
07 

Q-6 (a) Explain Induced recharge method. 

પે્રરયત રયચાર્જ ઩દ્ધસત વભજાલો. 
03 

 (b) Explain methods of ground water recharge and explain any one. 

ભગૂબભ જ઱ રયચાર્જની ઩દ્ધસતઓ વભજાલો અને કોઈ઩ણ એક વભજાલો . 
04 

 (c) What is drip irrigation? Draw detailed sketch of it showing various parts. 

ટ઩ક સવિંચાઈ શ ું છે? તેના સલસલધ બાગો દળાભલતો સલગતલાય સ્કેચ દોયો . 
07 

Q-7 (a) Explain factors affecting duty and delta. 

Duty અને Deltaને અવય કયતા ઩રયફ઱ો વભજાલો. 
03 

 (b) Explain Darcy’s law in detail. 

ડાવીના કામદાને સલગતલાય વભજાલો. 
04 

 (c) Enlist various methods of artificial recharging and explain any one. 

કૃસત્રભ રયચાજજ િંગની સલસલધ ઩દ્ધસતઓની માદી ફનાલો અને કોઈ઩ણ એકને વભજાલો.  
07 

Q-8 (a) What is warabandi ? Explain in detail. 

લયફુંધી શ ું છે? સલગતલાય વભજાલો. 
03 

 (b) Explain confined and unconfined aquifers. 

વીસભત અને અભમાભરદત જ઱ચયોને વભજાલો. 
04 

 (c) Enlist methods of Rain-water harvesting and explain any one method. 

યેઈન-લોટય શાલેસસ્ટિંગની ઩દ્ધસતઓની માદી આ઩ો અને કોઈ઩ણ એક ઩દ્ધસત વભજાલો.  
07 

 


